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Example 19.12
Mozart, Violin Sonata in E-flat, K. 481
second movement, 15–36

1

Analyzing Classical Form
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Example 19.12, Mozart, Violin Sonata in E-flat, K. 481, second movement, 15–36 (continued)
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Example 19.13
Haydn, String Quartet in F, Op. 77, No. 2
third movement, 52–75

1

Analyzing Classical Form
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Example 19.13, Haydn, String Quartet in F, Op. 77, No. 2, third movement, 52–75 (continued)
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Allegro
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Example 19.14
Beethoven, Piano Sonata in E, Op. 14, No. 1
third movement, 12–32

1

Analyzing Classical Form
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Example 19.14, Beethoven, Piano Sonata in E, Op. 14, No. 1, third movement, 12–32 (continued)
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Poco Allegretto
e grazioso
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Example 19.15
Beethoven, Piano Sonata in E-flat, Op. 7
fourth movement, 47–65

1

Analyzing Classical Form
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Example 19.15, Beethoven, Piano Sonata in E-flat, Op. 7, fourth movement, 47–65 (continued)
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Example 19.16
Mozart, Piano Sonata in D, K. 576
third movement, 148–89

1

Analyzing Classical Form
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Example 19.16, Mozart, Piano Sonata in D, K. 576, third movement, 148–89 (continued)
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